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46. Sadly, he was brought up in a very poor. He and his brothers and only sister had .......... toys to play. And since his
parents had to work two jobs, they only had .......... time to spend with them.
1) a few/a little 2) few/little 3) few/very little 4) very few/a little

47. Lily's grandmother loved her so much that she passedon .......... jewelry to her before she passed away.
1) a few her lovely pieces of 2) some of her lovely pieces of
3) any of her lovely slices of 4) many her lovely slices of

48. This factory was managed by a boss who was stone ......... to the workers' requests working honestly to improve the
factory's production.
1) deaf 2) cruel 3) rude 4) dumb

49. The newly designed power station is supposed to create lots of different job opportunities for people ......... from simple
workers to top engineers.
1) existing 2) signing 3) ranging 4) attending

50. The writer in his novel has treated the problem so ......... that his readers can easily be able to identify with the main
characters.
1) fluently 2) quietly 3) politely 4) pleasantly

51. Mus. Tailor finally gave up and hugged her tragic death, ......... all her efforts to fight the brain cancer for a couple years.
1) besides 2) although 3) instead 4) despite

52. The only reason why mother got a divorce and left father was the fact that he was so busy that he couldn't afford the

53.

54.

55.

56.

57.

58.

59.

60.

time to ......... even a word with her.

1) imagine 2) exchange 3) collect 4) project

Cloze Test:

Traffic signs provide valuable information to drivers and other road users. They represent (53) ......... that are in place
to keep you safe, and help to (54) ......... messages to drivers and pedestrians that can maintain order and reduce (55)
.......... . Neglecting them can be dangerous.

Most signs make use of pictures, rather than words, so that they are easy to understand and can be interpreted (56)
......... . For this reason, it’s important that you know what each picture represents, and that you use them to inform

your driving. Failing to do so could result in a serious accident or a fine.

1) rules 2) matters 3) parades 4) bruises
1) interview 2) experience 3) communicate 4) entertain
1) happenings 2) accidents 3) speed limits 4) pyramids
1) by a variety of languages people who speak 2) a variety of languages people who speak by

3) by people who a variety of languages speak 4) by people who speak a variety of languages
Reading:

The sheer number of people in a group affects the amount of communication. Consider the difference between
communication between two friends and communication in a group of five people. When friends talk, there are two
people sending and receiving messages. In a group of five, there are five people doing the same thing. Each idea that is
expressed must be understood by four others, who may also choose to respond. Consequently, the greater number of
people in a group, the fewer contributions an individual may make. Because there are disadvantages to large groups,
you might assume that small groups would be the most effective. However, groups can be too small as well as 100 people
large. With too few members, a group has limited resources, which eliminates a primary advantage of groups for
decision making. Also, members may be unwilling to disagree or criticize each other's ideas. I believe that five to seven
members is the ideal size for a small group.

‘Which of the followings can be the best title for this passage?

1) Members in Communication 2) Disadvantages of Large Groups
3) Ideas Expressed in Communication 4) Advantages of Small Groups
‘We can conclude from the passage that in large groups ......... .

1) there is always a chaos at the end of each discussion

2) no one criticizes each other's ideas

3) before a decision is made everyone has to express their ideas individually
4) there is less opportunity for each person to speak

According to the passage, small groups ......... .

1) are always more successful than large groups in terms of decision making
2) can have some disadvantages as well

3) express their criticism more freely than large groups

4) are unable to make a decision at the end of discussions

The writer of this passage suggests that ......... .

1) the number of people in a small group must not be more than five

2) small groups are better as members of them have a chance to criticize each other
3) the ideal size for a small group should be five to seven

4) everyone should listen to each other's ideas no matter how large the group is




